
 

21 Lines

The stope of a line passing through points Cx y
Hyuga is denoted by m and is defined by
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Equationsothoriantaltverticallines
oHorizontal line passing through h Kl has equation y k
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Vertical line passing through h k has equation x h
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Parallelperpendiculart
Parallel lines have thesame slope
Perpendicular lines have slopes which are opposite reciprocals

Line 1 has slope a then Line 2 is perpendicular
to Line 1 if it has slope ta t

EI Give eqn of line that passes through C1,27 and

is 1 to a line with slope
m 2

point C 1,2
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Eqn of a line that passes through C 2,5 and
is parallel to a line that contains the points
2,3 5,7

m slope of other line 737



slope of our line

So y 5 43 x 12

y 5 43 1 85
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